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hZ b BLIERRIEF L
int gcd(int a, int b) {
if (a < b) swap(a, b);

for (int 1 = b; 1 > 0; i--) {
if (a% 1 ==08&& b % 1 == 0) return 1,
}
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https://acm.starcstar.club/2024fall/week4/#_2-%E6%9B%B4%E7%9B%B8%E5%87%8F%E6%8D%9F%E6%B3%95

int gcd(int a, int b) {

while(a'!=b){
if(a>b) a=a-b;
else b=b-a;

}

return a;
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https://acm.starcstar.club/2024fall/week4/#_3-%E6%AC%A7%E5%87%A0%E9%87%8C%E5%BE%97%E7%AE%97%E6%B3%95

int gcd(int a, int b) {
//E a<b F—RIEFEMELNIGFIBaFlbE it
while (b '= 0) {
int temp = b;
b =a%b;

a = temp;

}

return a;




int gcd(int a, int b) {
if (b == 0)
return a;

else
return gcd(b, a % b);
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https://www.luogu.com.cn/problem/B4025
https://www.luogu.com.cn/problem/B3736
https://www.luogu.com.cn/problem/P1029
https://www.luogu.com.cn/problem/P1888
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E SN E| S R E S T- EEE
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HHRESBRENRITR
UTF—SEIRE:
SRR —RRREEIAARZ O(1),

#include <iostream>
using namespace std;

int main() {
int a = 3, b = 5;
intc=a+b, d=a*b, e=a-»0b, f=Db/ a;
cout << c << " "<k d<<<" "<<ge<<<"" < f << endl;
return 0;
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FZERR. BERATER TR, FZEHENERAE, B8
S2ER O(n),
int search(const int arr[], int n, int x) {
for (int 1 = 0; 1 < n; 1i++) {

if (arr[i1] == x) return 1;
)

return -1;
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B+, BEIEZRERN
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int binarySearch(const int arr[], int left, int right, int target) {
while (left <= right) {
int mid = left + (right - left) / 2;
if (arr[mid] == target) {
return mid;
b

if (arr[mid] < target) {
left = mid + 1;

3
else {

right = mid - 1,
3

}

return -1,
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ENEE. SaHE: MTFEeITE, IREDRH IR
FHFFETE, MAERESN O(n?),

void bubbleSort(int arr[], int n) {
for (int 1 = 0; 1 <n - 1; 1++) {
for (int j = 0; J <n -1 -1; j++) {
if (arr[j] > arr[] + 1]) {
swap(arr[j], arr[j + 1]);
b

ARMEMARARFREFIRITREI 21/ 32



8- YNIESE E2=31

R

FF UL TFRIEAD
3n? 4+ 2n 4+ 1
BEEMIE 3n?, FELERITETUZE 2n 1 1,

AKX O IBE&RR
IRIE FEGIF, BITTLEREERERTH: O(n?).

ARAMEMARARFIZFIZIT R 22 [ 32



8- YNIESE E2=31

AM=FMREBRLIGBENEZNEZERE
BiE—. BEE
int gcd(int a, int b) {
if (a < b) swap(a, b);
for (int i = b; i > 0; i--) {
if (a% 1 ==0 &% b % 1 == 0) return 1;
h
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BAZ. BHEREUA

int gcd(int a, int b) {
while(a!=b){
if(a>b) a=a-b;
else b=b-a;
b

return a;
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HIN= PREERRA

1int gcd(int a, int b) {
if (b == 0)
return a;
else
return gcd(b, a % b);
¥
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https://acm.starcstar.club/2024fall/week4/#%E5%88%86%E6%9E%90%E4%B8%89%E7%A7%8D%E6%B1%82%E6%9C%80%E5%A4%A7%E5%85%AC%E7%BA%A6%E6%95%B0%E7%9A%84%E7%AE%97%E6%B3%95%E7%9A%84%E7%AE%97%E6%B3%95%E5%A4%8D%E6%9D%82%E5%BA%A6
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string dict = "0123456789ABCDEFGHIJKLMNOPQRSTUVWXYZ";
string ten_to_x(int n, int x) //+i#HEE x #HEIERE

{
string ans = "";
while (n !'= 0) / /ISR
{
ans += dict[n % x];
n /= X;
k
string t = ""; //EEFRE
for (int i = ans.length()-1; i >= 0; i--) t += ans[i];
return t;
}
SAeEEZERN O(logn), FEEXREN O(1),
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https://www.luogu.com.cn/problem/B3619
https://www.luogu.com.cn/problem/B3620
https://www.luogu.com.cn/problem/P1143
https://www.luogu.com.cn/problem/P10797
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